JOURNAL OF MATHEMATICAL ANALYSIS ISSN: 2217-3412, URL: www.ilirias.com/jma Volume 9 Issue 6 (2018), Pages 95-105.

WEIGHTED NORLUND-EULER λ -STATISTICAL CONVERGENCE AND APPLICATION

VALDETE LOKU, EKREM ALJIMI (ALIMI)

ABSTRACT. In this paper we introduce the concepts of weighted Norlund-Euler λ -statistical convergence and statistical summability $(N_{\lambda}, p, q)(E_{\lambda}, q)$. We also establish inclusion relation and some related for these new summability methods. Further, we determine a Korovkin type approximation theorem through statistical sumability $(N_{\lambda}, p, q)(E_{\lambda}, q)$.

1. BACKGROUND AND PRELIMINARIES

1.1. **Definition of statistical convergence.** The concept of convergence of a sequence of real numbers had been extended to statistical convergence by Fast [11]. Let $K \subseteq \mathbb{N}$, the set of positive integers and $K_n = \{k \leq n : k \in K\}$. Then the natural density of K is defined by $\delta(K) = \lim_{n\to\infty} \frac{1}{n} |K_n|$ if the limit exist, where $|K_n|$ denotes the cardinality of K_n . A sequence $x = (x_k)$ is said to be statistically convergent to the number L if for each $\varepsilon > 0, \delta(K_{\varepsilon}) = 0$, where $K_{\varepsilon} = \{k \leq n : |x_k - L| \geq \varepsilon\}$, i.e.

$$\lim_{n \to \infty} \frac{1}{n} \left| \{k \le n : |x_k - L| \ge \varepsilon \} \right| = 0 \tag{1.1}$$

In these case we write $st - \lim x = L$. It is known that every convergent sequence is statistically convergent, but not conversely.

1.2. Definition of generalized weighted Norlund-Euler statistical convergence. The generalized weighted Norlund-Euler statistical convergence is defined by E. A. Aljimi, V. Loku [1], as follow: Let $\sum_{k=0}^{n} x_k$ be a given infinite series with sequence of its n^{th} partial sum $\{S_n\}$. If (E, q) transform is defined as

$$E_n^{(E,q)} = \frac{1}{(1+q)^n} \sum_{k=0}^n \binom{n}{k} q^{n-k} S_k$$
(1.2)

²⁰⁰⁰ Mathematics Subject Classification.

Primary 40G05, 40G15, 41A35, 40A35, Secondary, 41A36, 47B39. Key words and phrases.

Density, Weighted Norlund-Euler mean; λ -Statistical convergence; Korovkin theorem; Positive linear operator.

^{©2018} Ilirias Research Institute, Prishtinë, Kosovë.

Submitted April 23, 2018. Published October 25, 2018.

Communicated by M. Et.

and we say that this summability method is convergent if $E_n^{(E,q)} \to S$ as $n \to \infty$. In this case we say the series $\sum_{k=0}^n x_k$ is (E,q) – summable to a definite number S. And we will write $S_n \to S(E,q)$ as $n \to \infty$. Let (p_n) and (q_n) be the two sequences of non-zero real constants such that

$$P_n = p_0 + p_1 + \dots + p_n, P_{-1} = p_{-1} = 0$$

$$Q_n = q_0 + q_1 + \dots + q_n, Q_{-1} = q_{-1} = 0$$

For the given sequences (p_n) and (q_n) , convolution p * q and is defined by:

$$R_n = p * q = \sum_{k=0}^{n} p_k q_{n-k}$$
(1.3)

The series $\sum_{k=0}^n x_k$ or the sequence $\{S_n\}$ is summable to S by generalized Norlund method and it is denoted by $S_n \to S(N, p, q)$ if

$$t_n^{(N,p,q)} = \frac{1}{R_n} \sum_{k=0}^n p_{n-\nu} q_\nu S_\nu \tag{1.4}$$

tends to S as $n \to \infty$.

Let us use in consideration the following method of summability:

$$t_n^{(N,p,q)(E,q)} = \frac{1}{R_n} \sum_{k=0}^n p_{n-k} q_k E_k^q = \frac{1}{R_n} \sum_{k=0}^n p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu=0}^n \binom{k}{\nu} q^{k-\nu} S_{\nu}$$
(1.5)

If $t_n^{(N,p,q)(E,q)} \to L$ as $n \to \infty$, then we say that the series $\sum_{k=0}^n x_k$ or the sequence $\{S_n\}$ is summable to S by Norlund-Euler method and it is denoted by $S_n \to S(N, p, q)(E, q)$.

Remark. If $p_k = 1, q_k = 1$, then we get Euler summability method.

Now we are able to give the definition of the generalized weighted statistical convergence related to the (N, p, q)(E, q) summability method. We say that E have weighted density, denoted by $\delta_{NE}(E)$, if

$$\delta_{NE}^q(E) = \lim_{n \to \infty} \frac{1}{R_n} \left| \{k \le R_n : k \in E\} \right| \tag{1.6}$$

A sequence $x = (x_k)$ is said to be generalized weighted Norlund-Euler statistical convergent (S_{NE}^q –convergent) if for every $\varepsilon > 0$:

$$\lim_{n \to \infty} \frac{1}{R_n} \left| \left\{ k \le R_n : p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu=0}^n \binom{k}{\nu} q^{k-\nu} |x_\nu - L| \ge \varepsilon \right\} \right|$$
(1.7)

In these case we write $L = S_{NE}^q(st) - \lim x$.

2. Main resultes

2.1. Weighted Norlund -Euler λ -statistical convergence. In these section we get second generalization of weighted Norlund-Euler statistical convergence following the line of Mursaleen [17]; V. Karakaya, T. Chishti [13]; M. Mursaleen, V. Karakaya [18]; C. Belen, S.A. Mohiuddine [3], Sengul, Hacer; Et, Mikail [19], Et, Mikail; Sengul, Hacer [20-21] Basarir, M.; Konca, S.[22], Cinar, Muhammed; Et,

Mikail. [23] and E. A. Aljimi, V. Loku [1] and we call these new generalization, weighted Norlund -Euler λ -statistical convergence.

Let $\lambda = (\lambda_n)$ be a non-decreasing sequence of positive numbers tending to ∞ such that

$$\lambda_{n+1} \le \lambda_n + 1, \lambda_1 = 1 \tag{2.1}$$

The collection of such a sequence will be denoted by Δ . Let (p_n) and (q_n) be the two sequences of non-zero real constants such that

$$P_{\lambda n} = \sum_{k \in I_n} p_k, P_{-1} = p_{-1} = 0$$
$$Q_{\lambda n} = \sum_{k \in I_n} p_k, Q_{-1} = q_{-1} = 0$$

For the given sequences (p_n) and (q_n) , convolution p * q and is defined by:

$$R_{\lambda n} = p * q = \sum_{k \in I_n} p_k q_{n-k} \tag{2.2}$$

and

$$t_{n}^{(N_{\lambda},p,q)(E_{\lambda},q)} = \frac{1}{R_{\lambda n}} \sum_{k \in I_{n}} p_{n-k} q_{k} \frac{1}{(1+q)^{k}} \sum_{\nu \in I_{k}} \binom{k}{\nu} q^{k-\nu} S_{\nu}$$
(2.3)

where $I_n = [n - \lambda_n + 1, n]$. If $t_n^{(N_{\lambda}, p, q)(E_{\lambda}, q)} \to S$ as $n \to \infty$, then we say that the series $\sum x_k$ is summable to S by new generalization of weighted Norlund-Euler method and it is denoted by $S_n \to S(N_\lambda, p, q)(E_\lambda, q)$. Now we give the following definitions.

2.1.1. Definition. A sequence $x = (x_k)$ is said to be $(N_{\lambda}, p, q)(E_{\lambda}, q)$ summable to L if

$$\lim_{n} t_n^{(N_\lambda, p, q)(E_\lambda, q)} = L \tag{2.4}$$

2.1.2. Definition. A sequence $x = (x_k)$ is said to be strongly $(N_{\lambda}, p, q)(E_{\lambda}, q)$ summable to L if

$$\frac{1}{R_{\lambda n}} \sum_{k \in I_n} p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_\nu - L| = 0$$
(2.5)

In these case we write $x_k \to L[(N_\lambda, p, q)(E_\lambda, q)]$ and $[(N_\lambda, p, q)(E, q)]$ denotes the set of all strongly $(N_{\lambda}, p, q)(E_{\lambda}, q)$ – summable sequences.

2.1.3. Definition. A sequence $x = (x_k)$ is said to be summable $(N_{\lambda}, p, q)(E_{\lambda}, q)$ to L if

$$st - \lim t_n^{(N_\lambda, p, q)(E_\lambda, q)} = L \tag{2.6}$$

In these case we write

$$(NE)_{\lambda}(st) - \lim x = L \tag{2.7}$$

Now, we get weighted Norlund-Euler λ -statistical convergence by using the notion of $(N_{\lambda}, p, q)(E_{\lambda}, q)$ -summability. Let $K \subseteq \mathbb{N}$. The number

$$\delta_{(NE)_{\lambda}}(K) = \lim_{n} \frac{1}{R_{\lambda n}} \left| \{k \le R_{\lambda n} : k \in K | \} \right|$$
(2.8)

is said to be weighted Norlund-Euler λ -density of K. In case $\lambda_n = n$, the weighted Norlund-Euler λ -density reduced to generalized weighted Norlund-Euler density.

2.1.4. Definition. A sequence $x = (x_k)$ is said to be weighted Norlund-Euler λ -statistically convergent (or $S_{(NE)_{\lambda}}$ -convergent) to L if for each $\varepsilon > 0$

$$\lim_{n} \frac{1}{R_{\lambda n}} \left| \left\{ k \le R_{\lambda n} : p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_{\nu} - L| \ge \varepsilon \right| \right\} = 0 \quad (2.9)$$

In these case we write $L = S_{(NE)_{\lambda}} - \lim x$ and $S_{(NE)_{\lambda}}$ denotes the set of the all weighted Norlund-Euler λ -statistically convergent sequences.

Theorem 2.1. Let $p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_{\nu} - L| \leq M$ for all k. If a sequence $x = (x_k)$ is $S_{(NE)_{\lambda}}$ -convergent to L then it is statistically summable $(N_{\lambda}, p, q)(E_{\lambda}, q)$ to L but not conversely.

Proof. Let

$$K_{R_{\lambda_n}}(\varepsilon) = \left\{ k \le R_{\lambda_n} : p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_\nu - L| \ge \varepsilon \right\}$$
(2.10)

Since $L = S_{(NE)_{\lambda}} - \lim x$, $\lim_{n \to \infty} \frac{1}{R_{\lambda_n}} |K_{R_{\lambda_n}}(\varepsilon)| = 0$. Also, we have

$$\left| t_{n}^{(N_{\lambda},p,q)(E_{\lambda},q)} - L \right| = \left| \frac{1}{R_{\lambda_{n}}} \sum_{k \in I_{n}} p_{n-k}q_{k} \frac{1}{(1+q)^{k}} \sum_{\nu \in I_{k}} \binom{k}{\nu} q^{k-\nu}(x_{\nu} - L) \right| \leq \\ \leq \frac{1}{R_{\lambda_{n}}} \sum_{k \in I_{n}, k \notin R_{\lambda_{n}}} p_{n-k}q_{k} \frac{1}{(1+q)^{k}} \sum_{\nu \in I_{k}} \binom{k}{\nu} q^{k-\nu}(x_{\nu} - L) + \\ + \left| \frac{1}{R_{\lambda_{n}}} \sum_{k \in I_{n}, k \notin R_{\lambda_{n}}} p_{n-k}q_{k} \frac{1}{(1+q)^{k}} \sum_{\nu \in I_{k}} \binom{k}{\nu} q^{k-\nu}(x_{\nu} - L) \right| \leq \\ \leq \frac{1}{R_{\lambda_{n}}} \sum_{k \in I_{n}, k \notin R_{\lambda_{n}}} p_{n-k}q_{k} \frac{1}{(1+q)^{k}} \sum_{\nu \in I_{k}} \binom{k}{\nu} q^{k-\nu}(x_{\nu} - L) + \\ + \frac{1}{R_{\lambda_{n}}} \sum_{k \in I_{n}, k \notin R_{\lambda_{n}}} p_{n-k}q_{k} \frac{1}{(1+q)^{k}} \sum_{\nu \in I_{k}} \binom{k}{\nu} q^{k-\nu}(x_{\nu} - L) + \\ \leq \frac{M}{R_{\lambda_{n}}} \left| K_{R_{\lambda_{n}}}(\varepsilon) \right| + \varepsilon \to 0 + \varepsilon$$

$$(2.11)$$

as $n \to \infty$, which implies that $t_n^{(N_\lambda, p, q)(E_\lambda, q)} \to L$, i.e. $x = (x_k)$ is $(N_\lambda, p, q)(E_\lambda, q)$ -summable to L. Hence $x = (x_k)$ is statistically $(N_\lambda, p, q)(E_\lambda, q)$ -summable to L. For converse, take $\lambda_n = n$ and then see the example in Theorem 2.1 [1].

It can be easily seen that $S_{(NE)_{\lambda}} \subseteq S_{NE}$. Since $\frac{\lambda_n}{n}$ is bounded by 1 and so $\frac{R_{\lambda_n}}{R_n}$ is bounded by 1. We prove following for the reverse inclusion. \Box

Theorem 2.2. If $\lim_{n\to\infty} \inf\left(\frac{R_{\lambda_n}}{R_n}\right) > 0$ then $S_{NE} \subseteq S_{(NE)_{\lambda}}$.

Proof. Let $S_{NE} - \lim x = L$. We may write

$$\frac{1}{R_n} \left| \left\{ k \le R_n : p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu=0}^k \binom{k}{\nu} q^{k-\nu} |x_\nu - L| \ge \varepsilon \right\} \right| \ge$$
$$\ge \frac{1}{R_n} \left| \left\{ k \le R_{\lambda_n} : p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_\nu - L| \ge \varepsilon \right\} \right| =$$
$$= \frac{R_{\lambda_n}}{R_n} \frac{1}{R_{\lambda_n}} \left| \left\{ k \le R_{\lambda_n} : p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_\nu - L| \ge \varepsilon \right\} \right| \quad (2.12)$$

Taking the limit as $n \to \infty$ and using the condition of $\lim_{n\to\infty} \inf\left(\frac{R_{\lambda n}}{R_n}\right) > 0$, we have

$$S_{NE} - \lim x = L \Leftrightarrow S_{(NE)_{\lambda}} - \lim x = L$$

Theorem 2.3.

a) If $x_k \to L[(N_{\lambda}, p, q)(E_{\lambda}, q)]$, then $S_{(NE)_{\lambda}} - \lim x = L$ and the inclusion $[(N_{\lambda}, p, q)(E_{\lambda}, q)] \subset S_{(NE)_{\lambda}}$ is strict.

b) If $p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_\nu - L| \leq M$ for all k and $S_{(NE)_{\lambda}}$ -lim x = L, then $x_k \to L[(N_{\lambda}, p, q)(E_{\lambda}, q)]$, hence $x_k \to L[(N, p, q)(E, q)]$.

Proof.

a) Let $x_k \to L[(N_\lambda, p, q)(E_\lambda, q)]$ and

$$K_{R\lambda n}(\varepsilon)\left\{k \le R_{\lambda n}: p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_{\nu} - L| \ge \varepsilon\right\}$$

for a given $\varepsilon > 0$. Then, we have

$$\frac{1}{R_{\lambda n}} \sum_{k \in I_n} p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_\nu - L| =$$
$$= \frac{1}{R_{\lambda n}} \sum_{k \in I_n, k \in K_{R\lambda}(\varepsilon)} p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu} |x_\nu - L| +$$

$$+\frac{1}{R_{\lambda n}}\sum_{k\in I_n, k\notin K_{R\lambda}(\varepsilon)} p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu\in I_k} \binom{k}{\nu} q^{k-\nu} |x_{\nu} - L| \ge$$
$$\ge \frac{\varepsilon}{R_{\lambda n}} \left| \left\{ k \le R_{\lambda n} : p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu\in I_k} \binom{k}{\nu} q^{k-\nu} |x_{\nu} - L| \ge \varepsilon \right\} \right| \qquad (2.13)$$

and these imply that $S_{(NE)_{\lambda}} - \lim x = L$. To show that the inclusion is strict let $\lambda_n = n$, and define $x = x_k$ as follows :

$$x_k = \begin{cases} \sqrt{k}, \text{ if } k = m^2\\ 0, \text{ otherwice} \end{cases}$$
(2.14)

Then for $p_k = q_k = 1$ then

$$R_n = \sum_{k=0}^n 1 \cdot 1 = 1 + 1 + \dots + 1 = n + 1$$
(2.15)

and

$$\frac{1}{R_n} \left| \left\{ k \le n+1 : p_{n-k} q_k \frac{1}{2^k} \sum_{\nu=0}^k \binom{k}{\nu} q^{k-\nu} |x_\nu - 0| \ge \varepsilon \right\} \right| \le \frac{\sqrt{n+1}}{n} \to 0 \text{ as } n \to \infty$$

$$(2.16)$$

 ${\rm but}$

$$\frac{1}{R_n} \sum_{k=1}^n p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu=1}^k \binom{k}{\nu} q^{k-\nu} |x_\nu - 0| \to \infty \quad as \quad n \to \infty$$
(2.17)

Hence the inclusion is strict.

b) The first implication is obvious from the proof of theorem 2.1. Further, we have

$$\frac{1}{R_n} \sum_{k=1}^n p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu=1}^k \binom{k}{\nu} q^{k-\nu} (x_\nu - L) = \\
= \frac{1}{R_n} \sum_{k=1}^{n-\lambda_n} p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu=1}^{k-\lambda_k} \binom{k}{\nu} q^{k-\nu} (x_\nu - L) + \\
+ \frac{1}{R_n} \sum_{k\in I_n} p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu\in I_k} \binom{k}{\nu} q^{k-\nu} (x_\nu - L) \leq \\
\leq \frac{1}{R_{\lambda_n}} \sum_{k=1}^{n-\lambda_n} p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu=1}^{k-\lambda_k} \binom{k}{\nu} q^{k-\nu} (x_\nu - L) + \\
+ \frac{1}{R_{\lambda_n}} \sum_{k\in I_n} p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu\in I_k} \binom{k}{\nu} q^{k-\nu} (x_\nu - L) \leq \\
\leq \frac{2}{R_{\lambda_n}} \sum_{k\in I_n} p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu\in I_k} \binom{k}{\nu} q^{k-\nu} (x_\nu - L) \leq \\$$
(2.18)

100

which implies that $x_k \to L[(N, p, q)(E, q)]$.

Theorem 2.4. A sequence $x = (x_k)$ is statistically summable $(N_{\lambda}, p, q)(E_{\lambda}, q)$ to L if and only if there exist a set of $K = \{k_1 < k_2 < \cdots < k_n < \cdots\} \subseteq \mathbb{N}$ such that $\delta(K) = 1$ and (x_{k_n}) is $(N_{\lambda}, p, q)(E_{\lambda}, q)$ summable to L.

Proof. Suppose that there exists a set $K \subset \mathbb{N}$ such that $\delta(K) = 1$ and (x_{k_n}) is $(N_{\lambda}, p, q)(E_{\lambda}, q)$ summable to L. Then there is positive integer n_0 such that for every $n > n_0$ we have $\left| t_n^{(N_{\lambda}, p, q)(E_{\lambda}, q)} - L \right| < \varepsilon$.Put $K_t(\varepsilon) = \left\{ n \in \mathbb{N} : |t_{k_n}^{(N_{\lambda}, p, q)(E_{\lambda}, q)} - L| \ge \varepsilon \right\}$ and $K' = k_{n_0+1}, k_{n_0+2}, \cdots$. Then $\delta(K') = 1$ and $K_t(\varepsilon) \subset \mathbb{N} - K'$, which implies that $\delta(K_t(\varepsilon)) = 0$. Hence $x = (x_k)$ is statis-

Conversely let
$$x = (x_k)$$
 be statistically summable $(N_{\lambda}, p, q)(E_{\lambda}, q)$ to L . For $r = 1, 2, 3, \cdots$ put $K_t(r) := \left\{ j \in \mathbb{N} : \left| t_{k_j}^{(N_{\lambda}, p, q)(E_{\lambda}, q)} - L \right| \ge \frac{1}{r} \right\}$ and $M_t(r) := \left\{ j \in \mathbb{N} : \left| t_{k_j}^{(N_{\lambda}, p, q)(E_{\lambda}, q)} - L \right| < \frac{1}{r} \right\}$. Then $\delta(K_t(r)) = 0$ and

$$M_t(1) \supset M_t(2) \supset \cdots \supset M_t(i) \supset M_t(i+1) \supset \cdots$$
 (2.19)

and

tically summable $(N_{\lambda}, p, q)(E_{\lambda}, q)$ to L.

$$\delta(M_t(r)) = 1 \tag{2.20}$$

Now we have to show that for $j \in M_t(r)$, (x_{k_j}) is $(N_{\lambda}, p, q)(E_{\lambda}, q)$ summable to L. Suppose that (x_{k_j}) is not $(N_{\lambda}, p, q)(E_{\lambda}, q)$ summable to L. Therefore there is $\varepsilon > 0$ such that $\left| t_{k_j}^{(N_{\lambda}, p, q)(E_{\lambda}, q)} - L \right| \ge \varepsilon$ for infinitely many terms. Let $M_t(\varepsilon) := \left\{ j \in \mathbb{N} \left| t_{k_j}^{(N_{\lambda}, p, q)(E_{\lambda}, q)} - L \right| < \varepsilon \right\}$ and $\varepsilon > \frac{1}{r}$, $(r = 1, 2, 3, \cdots)$. Then from (2.19) we have $M_t(r) \subset M_t(\varepsilon)$. Hence $\delta(M_t(r)) = 0$, which contradicts (2.20) and therefore (x_{k_j}) is $(N_{\lambda}, p, q)(E_{\lambda}, q)$ summable to L.

3. Application

In this section, we prove a Korovkin approximation theorem through statistical summability $(N_{\lambda}, p, q)(E_{\lambda}, q)$.

Let C[a, b]. be the space of all functions f continuous on [a, b]. We know that C[a, b] is a Banach space with the norm $|| f ||_{\infty} = sup_{a \le x \le b} |f|, f \in C[a, b]$. Suppose that L be a linear operator from C[a, b] into C[a, b]. Then as usual, we say that L is positive linear operator provided that $f \ge 0$ implies $Lf \ge 0$. Also, we denote the value of Lf at a point x by L(f, x). The classical Korovkin theorem states as follows [14]:

Suppose that (T_n) be a sequence of positive linear operators from C[a, b] into C[a, b]. Then $\lim_n \| T_n(f; x) - f(x) \|_{\infty} = 0$, for all $f \in C[a, b]$., if and only if $\lim_n \| T_n(f_i; x) - f_i(x) \|_{\infty} = 0$, for i = 0, 1, 2, where $f_i(x) = x^i$. The statistical case of this theorem has been given by Gadjiev and Orhan [10] and later many authors proved Korovkin type approximation theorems by using different summability methods, see for instance [2-10,12,15,16]. **Theorem 3.1.** Suppose that (T_k) is a sequence of positive linear operators from C[a, b] into itself. Then

$$(NE)_{\lambda}(st) - \lim_{k} \| T_{k}(f;x) - f(x) \|_{\infty} = 0, \text{ for all } f \in C[a,b]$$
(3.1)

if and only if

$$(NE)_{\lambda}(st) - \lim_{k} \| T_{k}(f;x) - f(x) \|_{\infty} = 0, \text{ for } i = 0, 1, 2$$
(3.2)

where $f_0(x) = 1$, $f_1(x) = x$ and $f_2(x) = x^2$.

Proof. Since each 1, x, x^2 belong to C[a, b], (3.1) follows immediately from (3.2). Let $f \in C[a, b]$. Then there exists a constant M > 0 such that $|f(x)| \leq M$ for all $-\infty < x < +\infty$. Therefore

$$|f(t) - f(x)| \le 2M, -\infty < x < +\infty$$
 (3.3)

Let $\varepsilon > 0$. By hypothesis there is a $\delta = \delta(\varepsilon) > 0$ such that

$$|f(t) - f(x)| < \varepsilon, \forall |t - x| < \delta.$$
(3.4)

Using (3.3) and (3.4) and putting $\psi(t) = (t - x)^2$, we get

$$|f(t) - f(x)| < \varepsilon + \frac{2M}{\delta^2} \psi, \forall |t - x| < \delta.$$
(3.5)

These means

$$-\varepsilon - \frac{2M}{\delta^2}\psi < f(t) - f(x) < \varepsilon + \frac{2M}{\delta^2}\psi.$$
(3.6)

Now, we operating $T_k(1,x)$ to this inequality since $T_k(f;x)$ is monotone and linear. Hence

$$T_k(1,x)(-\varepsilon - \frac{2M}{\delta^2}\psi) < T_k(1,x)(f(t) - f(x)) < T_k(1,x)(\varepsilon + \frac{2M}{\delta^2}\psi).$$
(3.7)

Note that x is fixed and so f(x) is constant number. Therefore

$$-\varepsilon T_k(1,x) - \frac{2M}{\delta^2} T_k(\psi,x) < T_k(f,x) - f(x)T_k(1,x) < \varepsilon T_k(1,x) + \frac{2M}{\delta^2} T_k(\psi,x).$$
(3.8)

But

$$T_k(f,x) - f(x) = T_k(f,x) - f(x)T_k(1,x) + f(x)T_k(1,x) - f(x) = = [T_k(f,x) - f(x)T_k(1,x)] + f(x)[T_k(1,x) - 1].$$
(3.9)

Using (3.8) in (3.9), we obtain

$$T_k(f,x) - f(x) < \varepsilon T_k(1,x) + \frac{2M}{\delta^2} T_k(\psi,x) + f(x)(T_k(1,x) - 1).$$
(3.10)

Let us estimate $T_k(\psi, x)$

102

WEIGHTED NORLUND-EULER $\lambda\text{-}\mathrm{STATISTICAL}$ CONVERGENCE AND APPLICATION103

$$T_k(\psi, x) = T_k((t-x)^2, x) = T_k(t^2 - 2tx + x^2, x) = T_k(t^2, x) - 2xT_k(t, x) + x^2T_k(1, x) = = [T_k(t^2, x) - x^2] + 2x[T_k(t, x) - x] + x^2[T_k(1, x) - 1].$$
(3.11)

Substituting the value in (3.10), we get

$$T_{k}(f,x) - f(x) < \varepsilon T_{k}(1,x) + \frac{2M}{\delta^{2}} \left\{ [T_{k}(t^{2},x) - x^{2}] + 2x[T_{k}(t,x) - x] + x^{2}[T_{k}(1,x) - 1] \right\} + f(x)(T_{k}(1,x) - 1) =$$

$$= \varepsilon (T_{k}(1,x) - 1) + \varepsilon + \frac{2M}{\delta^{2}} \left\{ [T_{k}(t^{2},x) - x^{2}] + 2x[T_{k}(t,x) - x] + x^{2}[T_{k}(1,x) - 1] \right\} + f(x)(T_{k}(1,x) - 1).$$
(3.12)

Therefore

$$|T_k(f,x) - f(x)| \le \varepsilon + \left(\varepsilon + \frac{2Mb^2}{\delta^2} + M\right) |T_k(1,x) - 1| + \frac{2M}{\delta^2} |T_k(t^2,x) - x^2| + \frac{4Mb}{\delta^2} |T_k(t,x) - x|.$$
(3.13)

where b = max|x|. Now taking supremum over $x \in [a, b]$, we get

$$\|T_k(f;x) - f(x)\|_{\infty} \le \varepsilon + K \sum_{i=0}^2 \|T_k(f_i;x) - f_i(x)\|_{\infty}.$$
 (3.14)

where $K = max \left\{ \varepsilon + \frac{2Mb^2}{\delta^2} + M, \frac{2M}{\delta^2}, \frac{4Mb}{\delta^2} \right\}$. Hence

$$\| T_{k}(f;x)p_{n-k}q_{k}\frac{1}{(1+q)^{k}}\sum_{\nu\in I_{k}}\binom{k}{\nu}q^{k-\nu}-f(x)\|_{\infty} \leq \leq \varepsilon + K\sum_{i=0}^{2}\| T_{k}(f_{i};x)p_{n-k}q_{k}\frac{1}{(1+q)^{k}}\sum_{\nu\in I_{k}}\binom{k}{\nu}q^{k-\nu}-f_{i}(x)\|_{\infty}$$
(3.15)

Now replace $T_k(.;x)p_{n-k}q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu}$ by

$$L_m(.;x) = \frac{1}{R_{\lambda m}} \sum_{k \in I_m} T_k(.;x) p_{n-k} q_k \frac{1}{(1+q)^k} \sum_{\nu \in I_k} \binom{k}{\nu} q^{k-\nu}$$
(3.16)

in (3.15). For given r>0 choose a $\eta>0$ such that $\eta< r$ and define the following sets:

$$D = \{ m \in N : \| L_m(f; x) - f(x) \|_{\infty} \ge r \}$$
$$D_i = \left\{ m \in N : \| L_m(f_i; x) - f_i(x) \|_{\infty} \ge \frac{r - \eta}{3K} \right\}, i = 0, 1, 2.$$

Then $D \subset_{i=0}^{2} D_i$ and hence using conditions (3.2), we get

$$(NE)_{\lambda}(st) - \lim_{k} \| T_{k}(f;x) - f(x) \|_{\infty} = 0, \text{ for all } f \in C[a,b]$$
 (3.17)

These completes the proof of the theorem.

References

- Ekrem A. Aljimi, Valdete Loku, Generalized Weighted Norlund-Euler Statistical Convergence, Int. Journal of Math. Analysis, vol.8,2014, no7, 345-354
- [2] N.L. Braha, V. Loku, H.M. Srivastava, Λ2-Weighted statistical convergence and Korovkin and Voronovskaya type theorems, Applied Mathematics and Computation. Volume 266, 1 September 2015, Pages 675-686.
- [3] C. Belen, S.A. Mohiuddine, Generalized weighted statistical convergence and application Applied Mathematics and Computation. Volume 219, Issue 18, 15 May 2013, Pages 9821-9826.
- [4] C. Belen, M. Mursaleen, M. Yldrm, Statistical A-summability of double sequences and a Korovkin type approximation theorem, Bull. Korean Math.Soc. 49 (4) (2012) 851-861.
- [5] C. Belen, M. Yldrm, Generelized A-statistical convergence and a Korovkin type approximation theorem for double sequences, Miskolc Math. Notes, in press.
- [6] O. Duman, M.K. Khan, C. Orhan, A-statistical convergence of approximating operators, Math. Inequal. Appl. 6 (4) (2003) 689-699.
- [7] O. Duman, C. Orhan, Statistical approximation by positive linear operators, Stud. Math. 161 (2) (2004) 187-197.
- [8] F. Dirik, K. Demirci, Korovkin type approximation theorem for functions of two variables in statistical sense, Turkish J. Math. 34 (2010) 73-83.
- [9] O.H.H. Edely, S.A. Mohiuddine, A.K. Noman, Korovkin type approximation theorems obtained through generalized statistical convergence, Appl. Math.Lett. 23 (2010) 1382-1387.
- [10] A.D. Gadjiev, C. Orhan, Some approximation theorems via statistical convergence, Rocky Mountain J. Math. 32 (2002) 129-138.
- [11] H. Fast, Sur la convergence statistique, Colloq. Math. 2 (1951) 241-244.
- [12] E. Hoxha, E. Aljimi and V. Loku, Weighted Norlund-Euler A-statistical convergence for sequences of positive linear operators. math.bilten.smm.com.mk ISSN 0351-336X,Vol. 38(LXIV) No. 1,2014 (21-33),Skopje, Macedonia.
- [13] V. Karakaya, T. Chishti, Weighted statistical convergence, Iran. J. Sci. Technol. Trans. A Sci. 33 (2009) 219-223.
- [14] P.P. Korovkin, Linear Operators and Approximation Theory, Hindustan, Delhi, 1960.
- [15] S.A. Mohiuddine, An application of almost convergence in approximation theorems, Appl. Math. Lett. 24 (2011) 1856-1860.
- [16] S.A. Mohiuddine, A. Alotaibi, M. Mursaleen, Statistical summability C; 1 and a Korovkin type approximation theorem, J. Inequal. Appl. 2012 (2012) 172.
- [17] M. Mursaleen, k-Statistical convergence, Math. Slovaca 50 (2000) 111-115.
- [18] M. Mursaleen, V. Karakaya, M. Ertrk, F. Grsoy, Weighted statistical convergence and its application to Korovkin type approximation theorem, Appl. Math. Comput. 218 (2012) 9132-9137.
- [19] Sengul, Hacer; Et, Mikail. On I -lacunary statistical convergence of order of sequences of sets. Filomat 31 (2017), no. 8, 2403–2412.
- [20] Et, Mikail; Sengul, Hacer. On pointwise lacunary statistical convergence of order of sequences of function, Proc. Nat. Acad. Sci. India Sect. A 85 (2015), no. 2, 253–258.
- [21] Et, Mikail; Sengul, Hacer. Some Cesaro-type summability spaces of order and lacunary statistical convergence of order. Filomat 28 (2014), no. 8, 1593-1602.
- [22] Basarir, M.; Konca, S. Weighted lacunary statistical convergence. Iran. J. Sci. Technol. Trans. A Sci. 41 (2017), no. 1, 185-190.
- [23] Cinar, Muhammed; Et, Mikail. Generalized weighted statistical convergence of double sequences and applications. Filomat 30 (2016), no. 3, 753-762.

VALDETE LOKU

UNIVERSITY OF APPLIED SCIENCES FERIZAJ ST. UNIVERSITETI, P.N. 70000 FERIZAJ FERIZAJ, REPUBLIC OF KOSOVA

WEIGHTED NORLUND-EULER $\lambda\text{-}\mathrm{STATISTICAL}$ CONVERGENCE AND APPLICATION105

Ekrem Aljimi (Alimi)

UNIVERSITY OF "KADRI ZEKA", FACULTY OF COMPUTER SCIENCE, ST.ZIJA SHEMSIU PN. 60000 GJILAN, REPUBLIC OF KOSOVA

 $E\text{-}mail \ address: \texttt{ekrem.halimi@uni-gjilan.net}$